No compression Lateral load PRINT MAY BE REDUCED = DO NOT SCALE Guide top

Ceil
B 40mm 2mm

(1116775

/ v T g T g 7 (1-9/16") . R

‘ ///' LEFT HAND SWING | 284mm (15-1/8")# ) DETAILB i : Gu!de rail Pmdfsczt 19 SV;“;/:ZTI”CN

J " DOOR SWING LAYOUT 7631mm (30-1/16') DETAIL A SP"Ce:bar e Ae
Floor Cut Length 22mm Guide Rail Profile

SECTION A-A s T

of load on ceiling (per guide spacer board
rail) Lateral load of 8kg (17.6 C GENERALDATA MACHINE EQUIPMENT
Ibs.) /79N Type: DUO Homelift Manufacturer Nord Gear Ltd
h Capacity: 375 Ibs. Type: SK9012.1-71L/4 DBR6 HL (Bevel gear unit) 1
|Ce|l|ng ﬁ | Speed: 19.7 ft/min Motor Power. 0.37 kW
N Maximum travel 1476 ft Output Speed 1380/14 rpm F
Car floor area 5.167sqft Reduction: 02:37.4 »
Landings: 2 Output Torque: 249 Nm
Car entrances: 1in-line Brake torque; manufacturer: 5 Nm; Precima 1 |
| Operation. Constant pressure Drum; manufacturer. Shanghai Hanzhou Machinery Equipment Co., Ltd, |
| Material Castlron I
} LLET WEIGHT Diameter: 8.856 in (225mm) |
| [} Hoist unit (machine room above car). 248.6 |bs Diverter pulley: manufacturer: YangZhou Saierda Nylon manufacture Co. Ltd.
L Car bod 2046 Ibs Material Nylon
| :: Total empty lift: 453.2 |bs Quantity 2
|
| I (I et SUSPENSION ROPFS ELECTRICAL
2x Guid il fixi | H 1 Mlmml'_lm 2nd _Floor Manufacturer Pfeifer Drako Main power. 220-1-60 HZ - 20 AMP
X Gui .Z rai 'IIXIngS I ”:I‘ To Ceiling Height Type: Drako 7 x 19 WSC (Ml Spec 83420) Signal voltage: 24VDC
er guide ral -
(per guide rail) - } 2370mm Dimensions 02362 n (6mm) Emergency lowering system Battery 12V - 12 AMP. with emergency lighting G DETAIL F
Rails held in position i il (93-5/16") Min. breaking force: 29.0kN PLC: manufacturer. Mitsubishi U
B | i - Type AL2-24MR-D
by floor insert Il LA
Lateral Ioad Of | 1 |||| | GUIDE RAILS VFD; manufacturer: Mitsubishi ||
| Manufacturer: Stiltz Type FR-D720
Il (1] Yo
8kg (17.6 Ibs.) / 79N i 11 Type Specific Aluminium Alloy (AA 6063) extrusion
H® 1 H H Size Overall depth 7.165 in, width 3.756 in SIGNAL/SAEETY FEATURES
i iy Landing controls Remote t hold- to- run buttons, with back lights q
i | CAR Car controls: Hold-to-run call buttons, with back lights | |
- Type: Centrally guided, 1 or 2 entrances On/off and reset switch Keyed on car operating panel Ml
Seco i === | Suspension 2 ropes, drum Emergency stop: Push emergency stop switch with alarm siren L 9
I i | |~| D Walls: Sides have full walls. Emergency signalling device: Two way voice communication telephone, to landline
Floor {11 1 11N Door: Manual operation swing full height doors. Car indicator lights: Over-speed, over-load, out-of - balance, bottom- top obstruction
Floor surface: In accordance with clause 5.3.1.11 Car Lighting: LED strip lighting in ceiling and LED puck lighting cab floor
Apron minimum vertical height: 2.362in Top of car/machine room: Load sensitive top plate above lift
Handrail Included as standard Bottom of car: Obstruction sensor pad at base of lift car U H
niversal
APPIIED COMPONENTS guide rail
Safety gear, manufacturer; type: Stiltz, mechanial gripper plates and rods Car door contact; manufacturer, type: [ Kronenberg, PZ 73 |.a—length 2300mm
Car door lock; manufacturer; type: Stiltz (Kunshan) Limited, ES 20M UL certificate: 20141104-SA34041 (90'3/16")
UL certificate: 102448987CRT-001 Machine brake; manufacturer; type: |Precima
UL certificate: 1478630
Guide rail
) | Guide Rail splice bar 9
it Al Maximum Trave Top face of second floor I HIH 9
4500mm 1 1 o e a
"
(177-3/16") Guide Rail o Guide Base Plate o DETAILG
ES —
D o
N 22 I
o v | 1
- Countersunk head —
Self-drill self-tapping o
screw 4*32mm {
(Each Side 2 Pcs)
Gripper rod
. Bugle Screw First Floor
Compression Load #14-10*50mm support bracket
(szezrkgu(ifgf;ftil)) each 1 Piece Second floor
g S. -
2176 N
Guide rail
Ceiling Joist short splice bar
1 L L Ceiling Panel
- - DETAIL I
[First Floor ECT) | [ FLOOR CUT-OUT VIEW 4
. Guide Top Spacer g | — T T
I . V- Shaft Lid Assemb) Button head Self-tapping |74 | N H Nut M10 (x2 Pcs)
- lexagon Nu X2 Pcs;
Front Elevation View i iti i q
Middle Position View . screw 4*30mm(x 6PCS) [
g Suspension Plate
~ g A Hexagon Nut M12 (x3 Pcs) M Gripper Rod Extension Short | | Guide Rail q
R Guide Rail M q .
55 =< uide Rai
™M O ALY
1040mm (40-15/16") 98 9% Support d N
GUIDE RAIL GAUGE T g3 Rope Swaged End, System
g£o TL
EL EZ
c e % g 3 Ceiling Flange (J 5
£ S =3 - ]
T S-S
-~ 5 R
© — < = Gripper Rod
~ ih E
o ~ o — 11
g | 773mm(30-7/16") =]
€ = Internal Width £¢2 DETAILC
E 9 HANDLE RAIL 5 S
Qe 2
T i -é Shaft Lid Tri Floor | Bod!
g 631mm(24-13/16") 3 aft Lid Trim loor Insert Bo E
£ Clear Width Shaft Lid Plate \ ~
° N
™ A - 1 t ;;
? \\ T '=============@ = . T 23mm = < Guide rail
! g E S (7/8") Es o splice bar
K4 =) > s/ N £
- — japal N £
\ 0 A T £ FLOOR = <
k=) | P wn
\ c ? j a
\\ £ ing Flange
S
=]
<
{

ASmmu.?,/A") ]
Door Thinckess

|

The information contained herein is [ . TITLE
the exclusive property of Stiltz Ltd. © Stiltz Ltd. 2013 Duo Al_ta ASME
and shall not be distributed, reproduced, Drawn  Guangji. Chen |Pate  2019/5/23 Installation Layout
u o a or_dlsclo_sed in whqle.or in part without oS M oo Dwg No PAGE
prior written permission of Stiltz Ltd. - 6’ OTHERWISE NOTED A3

THIRD ANGLE PROJECTION - AS 1100 SCALE: 10F1




